
I w 23 final

9) No
, only o ,

1
,
or infinitely

many
solutions are possible

b) rector addition and scalar

multiplication

2) points live, place
(IR2)

at point ,
line

, place ,
3-D Space (3)

Matrix
es













49 al Los (E-T43) -SinEETY/s)
O

[ sin([[() cos1 -74) a I
O O

- "
= [-

=
I

·

J-3/0

Ox
- O ⑧

Io
10

E o

O 1S

x [ ·, - 5 J
O G I

d) CAB







6)a)[o]

3) det
100

( 8
-37 -314 I

0
-10540 -x

⑧
14

1-70
o

- 37 -4
O

0
-37 14

O - 105

- 105 40-4
⑧

= (1-x)(
- 3) -x)(40 -x) + (107)((4)(1-4)

0 = (1 -x)(x2- 3x + 105 - m -1 40)
(x2 3x - 10)

= (x -5)(x+2)

X=) or 1= 5 ,
- 2



















~ = v--
w
:

/By -ELi
area












